



01/19/2023 04:30 PM | Strike Existing Chandeliers 01/20/2023 08:00 AM | Install Day 1 01/21/2023 08:00 AM | Install Day 2 01/21/2023 05:00 PM | Event Date FS Doheny 01/22/2023 05:00 AM | Strike TBD 01/22/2023 01:00 PM | Rehang Chandeliers PO: Shipping Address: Four Seasons Doheny Mindy Weiss 942 S. Detroit Street Los Angeles, CA 90036

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

escription		Qtty	Price		Total
ocktails - Tent					
	Perimeter Valance - Navy Blue for the all existing Tents at the Four Seasons	1	\$2,200.00	Т	\$2,200.00
	Tie-Backs - Navy Blue for the all existing Tents at the Four Seasons	20	\$6.50	T	\$130.00
	Hedge Round Bar 12'D w. Glass Top	1	\$1,650.00	Т	\$1,650.00
	Round Barback - White w. Plexiglass Tier Shelves	1	\$300.00	T	\$300.00
	Custom Baseballs attached to Bar approx (66) pieces in total with 2-3" gap	66	\$10.00	Т	\$660.00
	'Put-In' Cups for Fence - TBD (2) Fences to spel JACK (4) Fences to have (2) sports balls : football, basketball, baseball	6	\$750.00	Т	\$4,500.00
	Blue, Green, & White Pennant Flags CLIENT TO PROVIDE Revelry to hang throughout the tent	30	\$65.00	Т	\$1,950.00
	SUBRENTAL - Cooler A	1	\$100.00	Т	\$100.00
	SUBRENTAL - Cooler B	1	\$175.00	Т	\$175.00
	SUBRENTAL - Bleachers	2	\$650.00	T	\$1,300.00
	SUBRENTAL - Lawn Chair	2	\$100.00	Т	\$200.00
	SUBRENTAL - BBque Prop	1	\$150.00	Т	\$150.00
	SUBRENTAL - Stadium Seats (4set)	4	\$450.00	Т	\$1,800.00
	Shanghai Barstool - Natural Wood	8	\$20.00	T	\$160.00

Description		Qtty	Price		Total
	Siena Round Stand Up Table - 30"D Wood	2	\$250.00	Т	\$500.00
	Siena Round Bistro Table - 30"D Wood	7	\$250.00	Т	\$1,750.00
F	Siena Dining Chair - Whitewash Wood	28	\$25.00	Т	\$700.00
	Carts - Metal Flower Display Cart Metal Flower Display Cart - White Poplin w/ Valance frame painted M490-7D	1	\$950.00	T	\$950.00
			Total Cocktails	Tent	\$19,175.00
Weatherly & Ha	llways				
	Custom Escort Card Backdrop 25'L x 10'H using (80) shoeboxes in navy blue to spell out 'JACK' Panel in green	1	\$6,750.00	Т	\$6,750.00
	Hidden Garden - Wire Chair - White	9	\$35.00	Т	\$315.00
	Hidden Garden Bistro Table - White w. Glass	3	\$175.00	Т	\$525.00
	NEW Lockers - Navy Blue	2	\$375.00	Т	\$750.00
	NEW Locker Room Bench	1	\$350.00	Т	\$350.00
	NEW Helmet	1	\$200.00	Т	\$200.00
	SUBRENTAL - Basketball Chair	1	\$150.00	Т	\$150.00
	SUBRENTAL - Basketball Ottoman	1	\$100.00	Т	\$100.00
	SUBRENTAL - Football Chair	1	\$150.00	Т	\$150.00
	SUBRENTAL - Football ottoman	1	\$100.00	Т	\$100.00
	Frankfurt Cart - Gold Frame	1	\$200.00	Т	\$200.00
	Barstools - Oslo - Leather	2	\$18.00	Т	\$36.00

Description		Qtty	Price		Total
Reception					
	Perimeter Drape - Navy Blue Chiffon approx 350'	1	\$6,700.00	Т	\$6,700.00
	Perimeter Valance - Navy Blue Dupioni	1	\$1,600.00	Т	\$1,600.00
	Hanging Basketball Strands 3'-4' long to be hung over dance floor mixed with Peterson Lights etc	10	\$450.00	Т	\$4,500.00
	Hanging Baseball Strands 2'-3' Long to be hung over dance floor mixed with Peterson Lights etc	15	\$350.00	Т	\$5,250.00
	Hanging Football Strands 3'-4' Long to be hung over dance floor mixed with Peterson Lights etc	10	\$450.00	Т	\$4,500.00
	Standing Football Strands 3'-4' Long with metal pole in center	6	\$450.00	Т	\$2,700.00
	Standing Baseball Strands 2'-3' Long with metal pole in center	8	\$350.00	Т	\$2,800.00
	Standing Basketball Strands 3'-4' long	6	\$450.00	Т	\$2,700.00
	Truss Covers - Navy Blue 14' Height x 12" x 12"	16	\$175.00	Т	\$2,800.00
	Round Booth (2pcs) Navy Blue	2	\$600.00	Т	\$1,200.00
	Berlin Coffee Table - Chrome 36"D	4	\$250.00	Т	\$1,000.00
	Ottoman Pod 18"D in blue and green colors	12	\$50.00	Т	\$600.00
T	Las Vegas Dining Table BASE for Round Top (paintable) tan colored base with Sandra to paint details **Baseball Theme**	6	\$350.00	T	\$2,100.00
	NEW - 72"D Las Vegas Dining Table TOP (paintable) Baseball theme top Sandra to Paint details	6	\$750.00	Т	\$4,500.00
	Las Vegas Dining Table BASE for Rectangle Top (paintable) (3) Football theme - green base Sandra to paint details (4) Basketball Theme BOB POP INK to cover in decal	6	\$350.00	Т	\$2,100.00
	NEW - 8' x 48"D Las Vegas Dining Table TOP (paintable) (3) Football theme - green top Sandra to paint details (4) Basketball Theme BOB POP INK to cover in decal	6	\$750.00	Т	\$4,500.00

Description		Qtty	Price		Total
	Dining Chairs - Palm Springs Wire Chair - White	48	\$20.00	Т	\$960.00
	Dining Chairs - Palm Springs Wire Chair - White	30	\$20.00	Т	\$600.00
	Monaco Straight Banquette - White Channeled 6'L	6	\$350.00	Т	\$2,100.00
	Las Vegas Mirror Coffee Table	2	\$200.00	Т	\$400.00
M	Beirut Coffee Table - Glass w. Chrome Frame	4	\$200.00	Т	\$800.00
	Ottoman Pod 18"D	10	\$50.00	Т	\$500.00
	Custom Accent Pillows	4	\$65.00	Т	\$260.00
	Accent Pillows	20	\$25.00	Т	\$500.00
	Dance Floor 24' x 24' blue with green accents	1	\$9,175.00	Т	\$9,175.00
	Washington Communal Table - Chrome	1	\$250.00	T	\$250.00
	Amsterdam Barstool - White	8	\$16.00	Т	\$128.00
	Vancouver Bar - Mirror Straight 8'L Navy Blue Frame - Bob to apply Decal	1	\$650.00	Т	\$650.00
	Montecito Bar - Folding 6'L Green and Blue Stripe with Touch of White	1	\$950.00	Т	\$950.00
	Straight Barback 6'L - White	2	\$250.00	Т	\$500.00
			Total Recept	ion	\$67,323.00
Services					
	Installers: Remove/Replace Chandeliers	4	\$250.00		\$1,000.00

Description		Qtty	Price	Total
	Installers: Install Friday	8	\$550.00	\$4,400.00
	Installers: Helpers Onsite Friday for help with the Fence 'Put in Cups' and the Shoe Box Wall	4	\$350.00	\$1,400.00
	Installers: Install Satrurday	8	\$450.00	\$3,600.00
	Installers: Strike TBD	8	\$450.00	\$3,600.00
	Trucking: 24'L	5	\$450.00 T	\$2,250.00
	Trucking: Fuel Surcharge	5	\$65.00 T	\$325.00
	Manager: Onsite (2) Days	1	\$1,450.00	\$1,450.00
	Manager: Layouts & Product Sourcing	1	\$1,650.00	\$1,650.00
	Production: Rush Shipping	1	\$1,500.00	\$1,500.00
	Certificates: Flame Proofing	1	\$850.00	\$850.00
	Supplies: Misc	1	\$650.00	\$650.00
	Dance Floor: Labor & Delivery	1	\$750.00	\$750.00
	Custom Artwork: Hand Painting	1	\$1,750.00	\$1,750.00
	Subrental: Fees & Pickup	1	\$750.00	\$750.00
Please make checks payable to Revelry, Inc. Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it			Total Products:	\$96,124.00
		Total L	abor/Services/Misc:	\$25,925.00
		-	Taxes (tax excempt):	\$0.00
			Discounts:	(\$0.00)
Notes			Total:	\$122,049.00
			Payments:	(\$1,500.00)
			Balance:	\$120,549.00